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Rally Coach: Reconnecting with French History
Partner A solves the first problem verbally

Partner B watches, listens, checks and coaches if necessary praises

Partner B solves the next problem

Partner A watches, listens, checks and coaches if necessary praises

Repeat the process until all tasks are complete

1. To what extent did Napoleon III establish a dictatorship by 1852?
2. Give evidence to support the view that the Second Empire became more ‘liberal’ in the 1860’s
3. Give evidence to support the view that the second Empire wasn’t really ‘liberal’ at all in the 1860’s
4. What positive benefits did Napoleon III bring to the people of France?

5. What were the strengths and weaknesses of Napoleon III’s foreign policy?

6. Why did the Franco Prussian war start?

7. Why did France lose the Franco Prussian War?

8. Why did the second Empire fall?

9. How should the 2nd Empire be interpreted?

